CEGON =Y

ATNC HY3IHS NI SM3NJS VL3W 133HS 350 °C
"ONINZLSVYA ONME H04 SLNNSNId 35N 2
‘F1BISSOd ¥3IAIHIHM NYHL 1708 & LNN 350 °L

SNA300¥d 02.2“5(“-\

A

‘G34IN03Y 41 3LISOda0

03T1ENISSY 38 NYD ONY "NOUVYTIVISNI 30IS 1338LS HOJ NMOHS SI LINN

‘HW3HLID0L IN3INO4NOD HOV3 3L

OL SHINALSYS ONINIOM 1TV 35N ONY dN LNINOJWOD HIV3 HOLYM

‘Y3IHLIOOL ONINIOT 380438 HOV3 3¥vNRS “LINN HOV3 HLM
Q3QNTINI SLIFHS ATEW3SSY HLM LINM ¥3MYHO/LINIBYI HIYI I1BN3SSY

ONINM TYDIHLDT13 ® 'S3NN
TJOMLNOD “MNVL S¥D HO4 HILVM
3HYD HLW ¥O0TJ NuHL THO

L MOTIVHS M3MVNO—¥ 6 Fi
L € 34 D0VLYD oy 9
L 0¥ = NI9 ISNOHIIIHM o¥ g
1 SNIB HLW Ovd / 113HS BMEC ¥
L WNIGIN HIMVYEO-Z 6L Iy
L 03073 / WOV A3HS B z
Z SYA/M LINDVHEE LNNON LLIEN l
‘ALD NOLLdIS3a ON l¥vd W3l |
vGROZ 43E FEO6EL —LEDIIM 30¥XHIYd
vl esaw | PANT] wo/zo/a | Beec | oW
sy f39vNIvd A8 OMHD 2ivd #ND3 A8 9md

ZG X 9% X ¥
LINN MOvy/8gvD/8md
WID3dS IINAOW SESTN

¥619-692/L1S
1226% IN 'NVIYOY
JATLS SINVF 908
00 TAALS NYIQY

()

(<)
(<)
()
(s)

)
(<)
()
©)

(v)
(v}
(¥)
(¥)

ZL/6

ZE/E)

AN VAN

Ze/gL

7001 LNNSNTd

HIHSYM N1d Z/1
LAMISHH Z/V—L ® 0Z-¥/1|
INN dOLSXH 0Z-%/1|
HIHSYM N1id +/1

YIHSYM,T ONIY LdS +/1
HSVM N1d ¥/

LAMISHH T/ 1~L *x OZ=+/1
J8d. LNNSMd 0Z-+/1
HIHSYM,T ONIY LIS */1L
HSYM N1d */1L

LAMISHH L & 02-+/1
JHd. LANSNId 0Z-4/ 1

A T  a

* @*

SNOLYYD NI SY¥INILSVI NOUVTIVISNI

zc/6 M M"W
{ G
{0
{

t o

ZE/B
ZE/6

ZE/6

Szuuzjh_.x_._ oN-{_w
MIS'OHAH /T % 0Z-¢/1L

LON 39NV XH on-{_w ®
MOS'IHL T/ * 0Z-v/1

YIHSYM,T "LX3 t\_w o
MISIHL 8/F * 0T-+/1

¥IHSVYM,T "LX3 +\_w @
MIYIS “gHL ¥IF

Szuuzc.._.:u: Nnum..m
'MIS'dHL .8/E * Zo—af

SNINALSYY

THIH WNMOHS 3dY SNCISNIWIQ 4T4HS J314'D23dS HIN0DIErD
SLYVd ILWHYEIS YITHL AJINIT O1 SONMYYD LN 0¥ 35N
LINALYHL HLIM JYV SYINILISY4 B SNOILINHLSK NOLLILEvd

‘Q3HING3Y S1 ONITIHO ATTBAESSY JN0S

NOHWTIVLIEN Oy

ATENESSY 402 (35N 3yY m0138 Q3151 5dN042 y3N3LSYS




91z201L—-Yv

anjas 0} paubisep sisuiqoa ! _\\ \\
LZZ6% 1IN 'NVIMAY  [33MLS SINVI 906 @ iy !
wzﬁzouqmmemzﬂm%

66/¢/AVN  :3LVQ 2G/¥ —N3 ;oL
¥,
(5661 40 AVA Q3SIA3Y) J
1IMOVHE ONILNNOW TYSHIAINN 0—80¢S# — -
- a\\k e
T SA¥04 ¥30T0 ® 16
QM04 ¥3M3IAN ® Z661L 39000 IWI/AHD
OWO/AHD (661 ¥3070 ¥ 9661
VY ¥3AV3IH ITALS HOV3I ¥O4
WOV ILNNOW ISOd VD!
661 TALS M3N LINOVEE ONILNNOW 40 ONINOILISOd IVDIdAL
‘T 914 NI NMOHS SY vy M30v3IH 14 O_h_

JHL AOH4 AVMY %® LNO SL3INIGVYO 3HL NOILISOd
Ol 13XMOVy8 ONILNNOW JO0 JdAL IN3¥354id
vV 3MIND3IY AV "MOHONY L1738 ¥30INOHS 3HL

SV HONS vy Y¥Y30V3IH FHL NO SNOILONYLSEO s
C® 2L 5014 NI NMOHS SV

‘SLINIGVYD ONINIOraY 40 ON3 HOV3 LV
L13INOVHE ONILNNCW TVSYIAINN JHL Q33N
TIM NIVY ¥3AV3H 3HL M0T38 S13INIAVD

L Ol

91201—V

\M\\ 0—-80€8# 13MOVHE ONLLNNOW TVSU3AINN 40 NOLLYONddY




Pl ilimagwened Savl

ADRIAN STEEL 19, 2-DRAWER MEDIUM

esprms et i

FRODUCT WEIGHT

27.4 |bs.

WIDTH x DEPTH x HEIGHT

18x12x12

CAPACITY

25 LBS. PER DRAWER

COLOR

GRAY

CATALOG NUMBER

19

PRODUCT FEATURES

The drawer unit body is a sturdy welded and painted steel housing. The
housing has Y:-20 riv-nuts installed into the base of the unit for easy
installation. Also included are pre-drilled mounting holes in the top of the
cabinet to allow for quick and easy stacking of the units. The number 19
drawer unit includes two (2) polymer drawers that ride on full extension ball
bearing glides. The drawers have an inside dimension of 13.50" wide X 4.5"
deep X 11.50” length. Each cabinet includes a sliding latch/lock system
designed to secure the drawers during vehicle movement. A cam lock allows
for securing your inventory for more security.

PRODUCT APPLICATION

This product is designed to be used in and/or on ADRIAN STEEL
shelving units and can also be used as a standalone product. The
product is great for small parts and supplies storage.

The information contained in this document |s the sole property of ADRIAN STEEL COMPANY. ADRIAN STEEL
COMPARNY retains the right to modify andfor change the product of its design at any time without pricr
notification



BDRIAN STEEL 19, 2 DRAWER MEDIUM

Cargo Management Solutions for Commercial Vehicles

Introduction / Comments:

The drawer unit body is a sturdy welded and painted steel housing. The housing has 1/4-20
riv-nuts installed into the base of the unit for easy installation. Also pre drilled mounting holes
in the top of the cabinet to allow for quick and easy stacking of units. 2 polymer drawers ride
on ball bearing glides. Each cabinet includes a sliding latch/lock system designed to secure

the drawers during vehicle movement. A cam lock allows for securing your inventory for more
security

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @
6-weeks of operation. This preventive maintenance step must be completed to
ensure your Product gives you long service life.

[TEM MO, FART MUMBER DESCRIPTION 195Gy,
1 a91497-G WRAPPER BODY A5SH 1
2 40016 DRAWER SLIB ASSY. 19/919 2
3 40827-LH 280MM SLIDE, CABIMET HALF, LH 2
4 40287-RH 280MM SLIDE, CABIMET HALF, RH 2
5 BAGOOO001-0 FASTEMER BAG 8138149 1

19
2 DRAWER MEDIUM

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



BDRIAN STEEL 19, 2 DRAWER MEDIUM 2

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

(19

CAUTION
. ALL INSTALLATION HOLES SHOULD BE SEALED \
/f"’\) WITH SILICON OR BUTYL SEALANT TO PREVENT ’\)

v EXHAUST FUMES FROM ENTERING THE VEHICLE!

DANGER
INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

CAUTION
TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL  "**

1 1
# STOPS WHEN DRILLING ANY INSTALLATION HOLES!
f L T-ﬁl

] ADRIAN AVAILABLE PART #S 31119-0 (3/8” X 1/2”
DEEP), 31121-0 (1/2” x 1/2” DEEP)

3/8" DIA.

-

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

S @ C{ ) o
: \ ‘u(") b

ci ﬂ ﬁ =
DRILL BIT WITH RATCHET, SOCKETS .
DRILL STOP AND/OR WRENCHES SCREWDRIVERS MEASURING TAPE

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



BDRIAN STEEL 19, 2 DRAWER MEDIUM 3

Cargo Management Solutions for Commercial Vehicles

If your vehicle contains carpet or a rubber floor mat you will need to prepare the mounting location.
Position the product to be installed into the vehicle and once your are satisfied with the mounting locations,
mark the mounting locations. Using a 1-3/16” diameter carpet cutter (P/N: 31183-0). Select the appropriate
floor spacers as shown in the illustration. Set those aside for use later into the installation process.

Using the correct drill bit size for the selected plusnut, drill the mounting holes in the vehicle sheet metal to
prepare for installing the plusnuts.

If you are thru-bolting at any of the locations simply drill a hole that is 1/16” larger than the bolt size(s) for
those locations.

Once you have drilled the holes into the vehicle, the raw metal edges should be sealed using a self-etching
primer to resist corrosion and potential fastener point failure.

A PLUSNUT (RIVNUT) SETTING TOOL IS REQUIRED FOR PLUSNUT (RIVNUT) INSTALLATION . PLUS NUT SETTING
TOOL CAN BE ORDERED THROUGH ADRIAN STEEL, OR USE AN AIR POWERED PLUSNUT SETTING GUN.

1/4-20UNC Plusnut (FAS0052) Use 3/8” dia. drill w/stop
FAS0080 SCREW, HXHD, 1/4-20UNCx2.00", G8
FAS0067 WASHER, FLAT, 1/4"ID

il
22200-0 PLUSNUT TOOL U
Il

5/16-18UNC Plusnut (FAS0091) Use 1/2” dia. drill wistop
FAS0095 SCREW, HXHD, 5/16-18UNCx2.00", G8 =
FAS0086 WASHER, FLAT, 5/16"ID ﬁ
22200-0 PLUSNUT TOOL —

—_—

Place barrel of the plusnut body in sheet metal thru hole until flange is flush with sheet metal.
Using a 9/16" combination wrench of plusnut tool body and a second hand wrench, ratchet, or air tool, rotate the hex bolt head
CW to draw plus nut flanges up (set the plusnut).

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



BDRIAN STEEL 19, 2 DRAWER MEDIUM 4

Cargo Management Solutions for Commercial Vehicles

INSERT TWO g% 40287-LH AND TWO {2) 40287 -BH SLIDES INTO CABINET BODY.
INSERT TWO EI]) 40016 DRAWERS INTO CABINET BODY.
PLACE BAGODDODT1O INTO THE SECOND DRAWER. TAPE
THE LOCK KEYS INTO THE FRONT RIGHT BOTTOM OF THE SECOND
DRAWER AND CLOSE THE DRAWERS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



ADRIAN STEEL 19, 2 DRAWER MEDIUM 5
Cargo Management Solutions for Commercial Vehicles
ITEM MG, PART MUMBER DESCRIFTION BAGOOO0-0JQTY.
1 BAGOA0S-A 5 x 8" MIL AUTOBRAG 1
2 FAS 00GE VWiasher, Lock, Ext. Tooth, 174 4
3 FASOA20 Screw, Truss Hd. Ph, 174-20x 375" Iy 4

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, Mi 49221 @ 800-677-2726
ECN Release: 22186

Publication Number: 54169 Revision Level: B



BDRIAN STEEL 19, 2 DRAWER MEDIUM 6

Cargo Management Solutions for Commercial Vehicles

Individual Fastener Images & Descriptions

FAS0066 /‘ITI\

WASHER,LCK EXT 1/4 ZP ' ; ' . ]

FAS0520
SCREW,THP 1/4-20 X .38
ZP

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



BDRIAN STEEL 19, 2 DRAWER MEDIUM 7

Cargo Management Solutions for Commercial Vehicles

Step 01 Methods of Attachment

THRU HOLES FOR
1/4" FASTENERS

(4) EACH
1/4-20 RIV-NUTS
PRE-INSTALLED
(4) EACH

@0

BOTTOM OF CABINET

THRU HOLES FOR
1/4" FASTENERS
® ®a (8) EACH

- 11,813 ———»

- 13313 —

TOP OF CABINET
10.270

11.813
13.313

USE THRU HOLES FOR FLOOR
MOUNTING UNIT(S).

i USE RIV-NUT LOCATIONS FOR
BOLTING UNIT TO SHELVES
ANDIOR FOR STACKING
MULTIPLE DRAWER UNITS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



BDRIAN STEEL 19, 2 DRAWER MEDIUM 8

Cargo Management Solutions for Commercial Vehicles

DOUBLE CHECK ALL FASTENERS LOCATIONS TO BE SURE THAT ALL
FASTENERS ARE TIGHTENED TO SPECIFICATIONS.
YOUR INSTALLATION IS NOW COMPLETE!
STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERENCES!

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54169 Revision Level: B ECN Release: 22186



ADRIAN STEEL Welded Shelf Unit Assembly/Install

SHELF/RACK WITH BINS
INSTALLATION INSTRUCTIONS

Q@
5
]
z
o
<
)
%
=
¥
5
5
>
v
n
0
2
O]
=
o
;
3
8 33WB SHELF/RACK WITH BINS
Pz
2 ALSO 33W (WITHOUT BINS)

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 *® (517) 265-6194

P.N. 39371 Revision B Page No. 1 of 8



BADRIAN STEEL Welded Shelf Unit Assembly/Install

BEFORE YOU START!

SIGN. THESE STEPS MUST BE PERFORMED AS SPECIFIED IN ORDER
TO ENSURE A PROPER INSTALLATION AND MUST BE FOLLOWED IN

IMPORTANT INSTALLATION STEPS ARE DENOTED USING A STOP @
ORDER TO MAINTAIN YOUR PRODUCT WARRANTY!

CRITICAL INFORMATION PERTAINING TO USER AND/OR VEHICLE
SAFETY IS DENOTED USING A CAUTION SIGN. SAFETY ITEMS MUST BE
STRICTLY ADHERED TO IN ORDER TO ENSURE A SAFE WORKING
ENVIROMENT!

YOU WILL NEED THE FOLLOWING TOOLS IN ORDER TO COMPLETE THIS JOB.

#3 PHILLIPS 9/16” OPEN END WRENCH FOR SETTING PLUSNUTS,
SCREWDRIVER DRILL MOTOR, 3/8” DRILL BIT WITH 1/2" DEEP STOP

RATCHET WRENCH, WITH 7/16” & 1/2” SOCKET

WRENCHES TORQUE WRENCH

ALL FASTENERS USED IN THE ASSEMBLY AND INSTALLATION OF THIS PRODUCT
SHOULD BE TIGHTENED TO THE SPECIFIED TORQUE AS LISTED WITH EACH FASTENER
CALLOUT BOX.

THE USE OF AIR OR ELECTRIC IMPACT TOOLS FOR THE
ASSEMBLY OF FASTENERS IS NOT RECOMMENDED AND

COULD CAUSE FASTENER FAILURE!

WARNING

THE USE OF DRILLS WITH INTEGRAL DRILL STOPS
ALONG WITH PROPER INSPECTION FOR GAS TANK, GAS
LINES, BRAKE LINES AND ELECTRICAL LINES PRIOR TO

DRILLING ANY MOUNTING HOLES IS STRONGLY
RECOMMENDED TO ENSURE THAT VEHICLE DAMAGE IS
AVOIDED!

THE USE OF NON-STANDARD FASTENERS AND/OR DEVIATING FROM THE FASTENERS
SPECIFIED IN THE INSTRUCTION (S) MAY VOID YOUR PRODUCT WARRANTY!

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 2 of 8



BADRIAN STEEL Welded Shelf Unit Assembly/Install

ALL DRILLED HOLES IN
THE VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF-ETCHING
PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE!

TO PREVENT EXHAUST FUMES FROM ENTERING THE VEHICLE,
ALL HOLES SHOULD BE SEALED AT INSTALLATION WITH

BUTYL OR SILICON SEALANT MATERIAL.

Whenever a plusnut is specified it is important that the proper size installation hole is
provided.

PLUSNUT SIZE DRILL SIZE (with stop)
1,-20 PLUSNUT, FAS0052 .-,’f 3/8” DIAMETER
5/16-18 PLUSNUT, FAS0091 i 1/2” DIAMETER

FOR MOUNTING THROUGH A FLOOR MAT AND/OR CARPET

Position each item in desired location inside the
vehicle and mark the floor mounting locations.

39271
It is recommended that a drilling template be used to (SHOWN)

Spacer Use and Installation

ensure an accurate placement of components is / |
achieved for this installation. ALWAYS PLACE RECESSED

PART OF FLOOR SPACER

ON TOP OF PLUSNUT.
Using the cutting tool, drill a pilot hole thru the

mat/carpet and metal floor pan.

Placing the properly sized spacer on top of the floor mat floor mat jute
vehicle floor pan will make your Adrian interior
level, square, and sound, The view below shows

the proper sized spacer for the different heights

o of the vehicle floor. Make sure to place the B ,u‘.;;.‘j
spacers with the plusnut relief surface down ;;;:, ;;;v‘i-'
as shown. el
floor mat floor mat jute 2
39272 ?ﬁ)
L \
1/2 m ;A Ai;:j :1;’;"5.;"“ ) vehicle floor with ribs and valleys

vehicle floor
rib

vehicle floor
valley

The location of various floor mounts will determine what spacer combination will be used. For
example, an 11/32” spacer is used atop floor ribs, and an 11/16” high spacer is used atop floor
valleys.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 30f 8



EDRIAN STEEL Welded Shelf Unit Assembly/Install

Cargo Management Solutions for Commercial Vehicles

THE PROPER USE OF SPACERS IS REQUIRED WHEN MOUNTING
@ OVER MAT/CARPET TO ENSURE THE METAL-TO-METAL CLAMP- @

UP, WHICH WILL PREVENT UNWANTED COMPONENT SHIFTING
AND POTENTIAL FAILURE DURING USE.

DRILLING AND SETTING PLUSNUT

ASSEMBLE THE SETTING THE

Floor locations use the cutting tool to drill a pilot FouLome PLUSNUT
hole thru the mat/carpet and metal floor pan. 0

1) SETTING BOLT HAND TOOL, RATCHET
1/4—20 x 2" LONG OR AIR TOOL TURNS THE

. . . . OR . BOLT TO DRAW PLUSNUT

Floor and header rail locations: Use 3/8” drill bit 5/16-18 x 2-1/4 /
with stop for header rail. Use %2” drill bit with stop

for floor locations.

2) PLUSNUT TOOL

3) PLUSNUT 9/16 BOX OR OPEN
END WRENCH HOLDS
THE PLUSNUT TOOL

DRILL METAL
\ 3/8" DIA. FOR 1/4-20
| 1/2" DIA. FOR 5/16-18
PLUSNUT |
1/4-20
R
5/16-18

metal edges of all drilled holes with a self-etching
primer. Install plusnuts.

SHEET METAL
INSTALLATION
S IRTACE

|
Clean up debris from drilling and coat the raw Q o

|

|

CSTEP _01 ) MOUNT BRACKET ONTO SHELF UNIT

0 ‘
1 )

FAS0061 FAS0055
. SCREW,THP 1/4-20X.50 NUT,HEX FLANGE
08308-1 TORQUE 8 ft. Ibs. 1/4-20
MB111 MOUNT BRKT WO/FAS (4) REQ'D. (4) REQ,D

(2) REQ'D.
Install (2) 08308-1 to the shelf unit as shown below. Do not completely tighten to shelf for adjustment
to get good location on header rail. The brackets can be moved to avoid obstacles.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 4 of 8



ADRIAN STEEL

Cargo Management Solutions for Commercial Vehicles

Welded Shelf Unit Assembly/Install

CSTEP—OZ ) DRILLING VEHICLE FOR INSTALL OF UNIT TO INTO VEHICLE

FASTENERS NEEDED FOR HEADER RAIL

i

FAS0078
SCREW, HEX HEAD
Y420 X 17
TORQUE 12 ft. Ibs.

\’lf
e

FAS0060
WASHER, LOCK,
SPLIT %"

_—

N

FAS0067
WASHER, FLAT
yy

e

FAS0052
Y4-20 PLUSNUT

FASTENERS NEEDED FOR FLOOR

o

03927-1
11/32 C/F 1006
SPACER

L

J

03927-2
11/16 C/F 1006
SPACER

SPACERS ARE USED TO CREATE A LEVEL, AND SOLID INSTALLATION.
(REFER TO PAGE 3 FOR SPACER APPLICATION)

i

FAS0092
SCREW, HEX HEAD
5/16-18 X 1.5
TORQUE 12 ft. Ibs.

\’lf
e

FAS0098
WASHER, LOCK,
SPLIT 5/16”

_—

N

FAS0086
WASHER, FLAT
5/16”

.

FAS0091
5/16-18 PLUSNUT

Position welded unit(s) in desired position. Be careful not to position header brackets over holes or other
header rail obstacles. Mark all header and floor mounting positions. Remove welded units. Drill all
marked mounting positions with correctly sized drill bit with stop. (Picture for reference only

ADRIAN STEEL COMPANY ¢

906 JAMES ST.

* ADRIAN, MI. 49221 *

(517) 265-6194

P.N. 39371

Revision B

Page No. 50f 8



ADRIAN STEEL Welded Shelf Unit Assembly/Install

GTEP -02 conD MOUNTING SHELF UNIT INTO VEHICLE

Install (2) bolts per header bracket as shown below. (Picture for reference only)

Install two (2) bolts per side as shown below. (Image below is for reference only). The location of various
floor mounts will determine what spacer combination will be used. For example, an 11/32” spacer is used
atop floor ribs, and an 11/16” high spacer is used in floor valleys.

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 6 of 8



ADRIAN STEEL Welded Shelf Unit Assembly/Install

CSTEP -3 ) WHEN JOINING TWO SHELF UNITS TOGETHER FOLLOW THE
INSTRUCTIONS BELOW. (Picture for reference only

FASTENERS SHOWN BELOW ARE USED IN JOINING TO SHELF UNITS TOGTHER.

__ -_'/]> <)

FAS0061 FAS0055
SCREW,THP 1/4-20X.50 P/G5 NUT,HEX FLANGE
TORQUE 8 ft. Ibs. 1/4-20

(4) REQ'D. (4) REQ,D

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 7 of 8



EDRIAN STEEL Welded Shelf Unit Assembly/Install

Cargo Management Solutions for Commercial Vehicles

DOUBLE-CHECK ALL FASTENER LOCATIONS TO BE
SURE THAT ALL FASTENERS ARE TIGHTENED TO
SPECIFICATIONS!

YOUR INSTALLATION IS NOW COMPLETE! STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERANCE!

ADRIAN STEEL COMPANY * 906 JAMES ST. * ADRIAN, MI. 49221 ® (517) 265-6194

P.N. 39371 Revision B Page No. 8 of 8



ITEM PART # DESCRIPTION QTY

1 BAG00004-0 #4 BAG FOR #40 BIN/KD 1

2 CRT11946-A CARTON, PAD FOR 11946 1

3 CRT11946-0 CARTON FOR #11946-0 1

4 FR42 FLOOR RAIL, 42" 1

5 LOGO-SM 0.875X3.00 ADRIAN LOGO 1

¥ ) 6 09311-0 DOOR ASM. 42" (39-5/8) 1

7 11947-0 END PANEL 14" LEFT 1

8 11948-0 END PANEL 14" RIGHT 1

Lo o L et e DA, b mes  Tomwwowe
THE END. PANELS. 10 12072-0 LEG BRACE/,LEFT 1
11 12073-0 LEG BRACE/,RIGHT 1

12 21000-0 LOCKING THNDLW/KEYASCO 1

1/4-20x1/2 THP SCW
FLANGE NUT
(TYP.ASSEMBLY)

5/16-18x1-1/2 HH BOLT

LOCK WASHER DETAIL B
FLAT WASHER 10-21x1/2 RHP SCW  '8-32x3/8 RHP SCW SCALE1:2
PLUSNUT LOCKNUT FLANGE NUT

CAUTION: DRILL THRU FLOOR WITH CARE! WATCH FOR
GAS TANK, CONTROL LINES, & ELECTRICAL WIRING.

Drawn By: DESCRIPTION

ALL DESIGNS AND DESIGN CONCEPTS ARE THE INTELLECTUAL
PROPERTY OF ADRIAN STEEL COMPANY AND ARE NOT TO BDS WH EEL HOUSE B IN - K D

BE COPIED, DISTRIBUTED OR COMMUNICATED TO OUTSIDE |Date:
PARTIES WITHOUT THE WRITTEN PERMISSION OF 03/09/2015 14 X 125 X 42

906 James Street ADRIAN STEEL COMPANY.

THE MATERIAL/ICONCEPTS/DESIGNSCONTAINED WITHIN ~ [ECN Ne!

Ad”a5n]'_7,\./|2|g2_|gfg449221 THIS DOCUMENT ARE FOR THE PURPOSE OF SUPPLYING

12861

WWW.ADRIANSTEEL.COM PRODUCT TO POTENTIAL ADRIAN STEEL PART No: 40 Part Weight: CG Horizontal & Vertical: Sheet: Rev.: E

COMPANY CUSTOMERS. Hee=21.00 vce=6.25 l1of 1




@ ADRIAN STEEL 9, 4-DRAWER SHALLOW

g ilmagwaed Sabal S T

FRODUCT WEIGHT

27.7 lbs.

WIDTH x DEPTH x HEIGHT

18x12x12

CAPACITY

15 LBS. PER DRAWER

COLOR

GRAY

CATALOG NUMBER

9

PRODUCT FEATURES

The drawer unit body is a sturdy welded and painted steel housing. The
housing has Y:-20 riv-nuts installed into the base of the unit for easy
installation. Also included are pre-drilled mounting holes in the top of the
cabinet to allow for quick and easy stacking of the units. The number 9 drawer
unit includes four (4) polymer drawers that ride on full extension ball bearing
glides. The drawers have an inside dimension of 13.50" wide X 2.0” tall X
11.50" deep. The drawers include a removable divider tray for storing smaller
parts. Each cabinet includes a sliding latch/lock system designed to secure
the drawers during vehicle movement. A cam lock allows for securing your
inventory for more security.

PRODUCT APPLICATION

This product is designed to be used in and/or on ADRIAN STEEL
shelving units and can also be used as a standalone product. The
product is great for small parts and supplies storage.

The information containad in this document is the sole property of ADRIAN STEEL COMPANY. ADRIAN STEEL
COMPARNY retains the right to modify andfor change the product of its design at any time without pricr
notification



ADRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 1

Cargo Management Solutions for Commercial Vehicles

Introduction / Comments:

The drawer unit body is a sturdy welded and painted steel housing. 4 polymer drawers ride on
ball bearing glides.The drawer include a removable divider tray for storing small items. Each
cabinet includes a sliding latch/lock system designed to secure the drawers during vehicle
movement.

Note:

It is advised that all fasteners used in this assembly and installation should be
checked for tightness at the following intervals: @ 2-weeks and again @
6-weeks of operation. This preventive maintenance step must be completed to
ensure your Product gives you long service life.

ITEM NO. PART NUMBER DESCRIPTION 9ICTY .
1 39197-G WRAPPER BODY ASSM 1
2 40015 DRAWER SUB ASSY . #8/919 4
3 26105-0 Divider Tray /919 4
4 40827-LH 250MM SLIDE, CABINET HALF, LH 4
5 40287-RH 250MM SLIDE, CABINET HALF, RH 4
B BAGOO001-0 FASTENER BAG §,19,918 1

4 DRAWER UNIT

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



ADRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 2

- PRECAUTIONS -
A CAUTION A

THE USE OF AIR IMPACT TOOLS CAN
OVER-TORQUE FASTENERS AND
CAUSE FASTENER FAILURE!

(19

CAUTION
. ALL INSTALLATION HOLES SHOULD BE SEALED \
/f"’\) WITH SILICON OR BUTYL SEALANT TO PREVENT ’\)

v EXHAUST FUMES FROM ENTERING THE VEHICLE!

DANGER
INSPECT FOR FUEL TANK, FUEL LINES, BRAKE LINES, HIGH
VOLTAGE BATTERIES AND ELECTRICAL LINES PRIOR TO
DRILLINGTO AVOID DAMAGING CRITICAL VEHICLE SYSTEMS
OR INJURY TO INSTALLER DURING INSTALLATION PROCESS!

CAUTION
TO AVOID DAMAGING THE VEHICLE ALWAYS USE DRILL  "**

1 1
# STOPS WHEN DRILLING ANY INSTALLATION HOLES!
f L T-ﬁl

] ADRIAN AVAILABLE PART #S 31119-0 (3/8” X 1/2”
DEEP), 31121-0 (1/2” x 1/2” DEEP)

3/8" DIA.

-

- IMPORTANT WARRANTY REQUIREMENTS -

1. SUBSTITUTING ADRIAN STEEL SPECIFIED FASTENERS FOR ASSEMBLY AND/OR INSTALLATION
WILL VOID YOUR PRODUCT WARRANTY.

2. ALL HOLES DRILLED INTO VEHICLE SHOULD HAVE THE RAW METAL EDGES SEALED WITH A SELF
-ETCHING PRIMER TO RESIST CORROSION AND POTENTIAL FASTENER POINT FAILURE.

3. ALL FASTENERS USED IN THE INSTALLATION OF THIS PRODUCT SHOULD BE TIGHTENED TO THE
TORQUE(S) SPECIFIED IN THESE INSTRUCTIONS.

4. THESE INSTRUCTIONS SHOULD BE KEPT WITH THE VEHICLE.

THE BASIC TOOLS NEEDED FOR MOST INSTALLATIONS

S @ C{ ) o
: \ ‘u(") b

ci ﬂ ﬁ =
DRILL BIT WITH RATCHET, SOCKETS .
DRILL STOP AND/OR WRENCHES SCREWDRIVERS MEASURING TAPE

ADDITIONAL TOOLS MAY BE NEEDED FOR THIS INSTALLATION AND THEY WILL BE IDENTIFIED IN THE STEPS THAT FOLLOW.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



BDRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 3

Cargo Management Solutions for Commercial Vehicles

If your vehicle contains carpet or a rubber floor mat you will need to prepare the mounting location.
Position the product to be installed into the vehicle and once your are satisfied with the mounting locations,
mark the mounting locations. Using a 1-3/16” diameter carpet cutter (P/N: 31183-0). Select the appropriate
floor spacers as shown in the illustration. Set those aside for use later into the installation process.

Using the correct drill bit size for the selected plusnut, drill the mounting holes in the vehicle sheet metal to
prepare for installing the plusnuts.

If you are thru-bolting at any of the locations simply drill a hole that is 1/16” larger than the bolt size(s) for
those locations.

Once you have drilled the holes into the vehicle, the raw metal edges should be sealed using a self-etching
primer to resist corrosion and potential fastener point failure.

A PLUSNUT (RIVNUT) SETTING TOOL IS REQUIRED FOR PLUSNUT (RIVNUT) INSTALLATION . PLUS NUT SETTING
TOOL CAN BE ORDERED THROUGH ADRIAN STEEL, OR USE AN AIR POWERED PLUSNUT SETTING GUN.

1/4-20UNC Plusnut (FAS0052) Use 3/8” dia. drill w/stop
FAS0080 SCREW, HXHD, 1/4-20UNCx2.00", G8
FAS0067 WASHER, FLAT, 1/4"ID

il
22200-0 PLUSNUT TOOL U
Il

5/16-18UNC Plusnut (FAS0091) Use 1/2” dia. drill wistop
FAS0095 SCREW, HXHD, 5/16-18UNCx2.00", G8 =
FAS0086 WASHER, FLAT, 5/16"ID ﬁ
22200-0 PLUSNUT TOOL —

—_—

Place barrel of the plusnut body in sheet metal thru hole until flange is flush with sheet metal.
Using a 9/16" combination wrench of plusnut tool body and a second hand wrench, ratchet, or air tool, rotate the hex bolt head
CW to draw plus nut flanges up (set the plusnut).

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



ABDRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 4

Cargo Management Solutions for Commercial Vehicles

INSERT FOUR (4) 40287-LH AND FOUR (4) 40287-RH SLIDES INTO CABINET BODY.
INSERT FOUR{4) 40015 DRAWERS INTO CABINET BODY. INSERT A TOTAL
OF FOUR {4) 26105-0 DIVIDER TRAYS INTO UNIT. INSERT ONE (1) DIVIDER
TRAY UPSIDE DOWN INTO TOP DRAWER AND RIGHT SIDE UP INTO THE REMAINING
THREE (3) DRAWERS. PLACE BAG00001-0 INTO THE SECOND DRAWER TRAY. TAPE
THE LOCK KEYS INTO THE FRONT RIGHT HAND TRAY POCKET AND CLOSE
THE DRAWERS.

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



BDRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 5
Cargo Management Solutions for Commercial Vehicles
ITEM RO, FART HUMBER DESCRIPTION BAGOOO01-00aTY.
1 BAGOS05-A A" 8" AMIL AUTOBAG 1
2 FAS 006G Washer, Lock, Ext. Tooth, 174 4
3 FAS0a20 Screw, Truss Hd. Ph, 154-20% 378" Ig 4 I

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET @ ADRIAN, Mi 49221 @ 800-677-2726
ECN Release: 22186

Publication Number: 54168 Revision Level: B



BDRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 6

Cargo Management Solutions for Commercial Vehicles

Individual Fastener Images & Descriptions

FASO0466
WASHER,LCK EXT 1/4 ZP i

FAS0520
SCREW,THF’ZF])M—QO X.38

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



ADRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 7

Cargo Management Solutions for Commercial Vehicles

Step 01 Methods of Attachment

THRU HOLES FOR
1/4" FASTENERS

(4) EACH
1/4-20 RIV-NUTS
PRE-INSTALLED
(4) EACH

@0

BOTTOM OF CABINET

THRU HOLES FOR
1/4" FASTENERS
® ®a (8) EACH

- 11,813 ———»

- 13313 —

TOP OF CABINET
10.270

11.813
13.313

USE RIV-NUT LOCATIONS FOR
BOLTING UNIT TO SHELVES
AND/OR FOR STACKING
MULTIPLE DRAWER UNITS.

USE THRU HOLES FOR FLOOR
MOUNTING UNIT(S).

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



ABDRIAN STEEL 9, 4 DRAWER UNIT ASSEMBLY 8

Cargo Management Solutions for Commercial Vehicles

DOUBLE CHECK ALL FASTENERS LOCATIONS TO BE SURE THAT ALL
FASTENERS ARE TIGHTENED TO SPECIFICATIONS.
YOUR INSTALLATION IS NOW COMPLETE!
STOW THIS COPY IN THE VEHICLE FOR FUTURE REFERENCES!

ADRIAN STEEL COMPANY @ WWW.ADRIANSTEEL.COM @ 906 JAMES STREET ® ADRIAN, Ml 49221 @ 800-677-2726

Publication Number: 54168 Revision Level: B ECN Release: 22186



